
 1 

_________________________   _________________________   ______     ____________         _______ 

Student 1 – name and surname     Student 2 – name and surname    Group         Date/time                Table 

 

Worksheet 

Laboratory 3 rev 6 

A. 1. f0=                 fCK =               TCK =  

 

Tconv0=                [s]       Tconv meas=                [s]        fs meas =                 [Sa/s]       

 

fs oscilloscope =                    [Sa/s]     type ADC oscilloscope:                                   fsine max 1 =                    

[Hz] 

 

2. VREF=             VREF/2=           VCS=                    VLSB=                         

 

3.  

N 

decimal 

N  binary V(N) meas. 

[V] 

V0(N)  (calculated)   

[V] 

1    

2    

4    

8    

16    

32    

64    

128    

255    

 

max enonliniarity =                       [V]    are loc pentru N =  

 

B.   CAN n=4b VREF=4.096V                  VLSB=                 VFS=                      offset=  

 4.   

CNA R-2R: VFS CNA =                  VLSB CNA =  

Why is it different from VFS CAN ? 

 

 

 

DAC step VDAC measured VDAC calculated 

0   

1 (LSB)   

2   

4   

8   

15 (FS)   

 

Error sources DAC: 

Explanation for choosing the steps for the DAC: 

 

 

 

Board no  ......... verified,   

prof.      ............................ 
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5.   f=1000Hz  

Nsteps =                Tstep=              Tconv meas = 

 

Explain the connection: 

 

 

 

 

 

 

Explain the decrease of the no. of steps: 

 

 

 

 

 

 
 

 

6.  

signal URMS meas 

[dB] 

 URMS noise 

[dB] 

Unoise RMS 

calc [dB] 
URMS meas –

URMS noise = 

SNR [dB] 

f fundam 

[Hz] 
SINAD [dB]  

(distorsiom.)  

SNRq 

[dB] 

VLSB DAC 

[V] 

 input 

ADC 

 

  -    - - 

b) output  

DAC 4b 

 

        

c) output  

DAC 3b 

 

        

 

URMS noise analogue [dB] = 

 
Explanation:  

 

 

 

 

 

 

c) Explanation 4 bits → 3 bits:  

 

 

 


